

---

**From:** jeffrey E. <jeevacation@gmail.com>  
**Sent:** Saturday, December 6, 2014 4:23 AM  
**To:** Richard Kahn  
**Subject:** Re: FW: Coping

200

On Fri, Dec 5, 2014 at 9:04 PM, Richard Kahn [REDACTED] <mailto:[REDACTED]> > wrote:

It appears from email chain that we need 60 tiles =o complete current project  
I am unsure of your thoughts on=keeping additional inventory for future projects

=blockquote type="cite">  
=div class="gmail\_quote">

Stone from the DR:  
400 pcs=16 X 16 X 1.5 coping - EDA to DR port, January 2015

400 X 12.50 = \$5,000 + 250 = \$5,250.00  
Shipping 20=E2◆◆ container = 3,000  
Total Cost = 8,250  
(I need to inquire how many pieces can fit in a 20 container)  
<=r>  
Timing = January 2015 (no precise date yet given)

Stone from Miami:

400 pcs 16 X 16 X 1.= coping - EDA to FL port, 12/22 or 12/23

400 X 14=50 = \$5,800  
Shipping 250 x 7 = 1750 + 250 trucki=g = 2,000  
Total Cost = \$7,800.00

=div class="gmail\_quote">

Timing = Will ship Dec 22/23 from Miami to STT

Please advise Miami or DR for tile and quantity des=red  
Thank you

From: Daphne Wallace <[REDACTED]> <mailto:[REDACTED]> >  
Date: Friday, December 5, 2014 at 2:4= PM  
To: Richard Kahn <[REDACTED]>

Subject: Re: FW: C=ping

Greetings Rich,

Tropical only ships Full Container Loads from DR to STT:

<=r>

20' container = \$3,040.00

Per =uis, the 400 tiles fill about 7 pallets - estimates \$250 per pallet in shi=ping costs from FL to STT:

7 pallets @ \$250/palle= = \$1,750

On Fri, Dec 5, 2014 at 12:40 PM, Richard Kahn <a href="mailto:[REDACTED]" target="\_blank">[REDACTED]</a> wrote:

Estimate of Shipping costs?

M=ami and DR please

From: Ann Rodriquez <[REDACTED]>;  
Date: Friday, December 5, 20=4 at 12:01 PM  
To: Daphne Walla=e <[REDACTED]<mailto:[REDACTED]>>>  
Cc: Richard =ahn <[REDACTED]<mailto:[REDACTED]>>>  
Subject: Re: Coping

We would need 60 tiles to finish the steps at the Main compound. </=iv>

Ann R.

On Dec 5, 2014, at 12:53 PM, Daphne Walla=e <[REDACTED]<mailto:[REDACTED]>>  
> wrote:

----- Forwarded message ---=====

From: Richard Kahn <[REDACTED]<mailto:[REDACTED]>>>  
Date: Fri, Dec 5, 2014 at 11:50 AM=br>Subject: Re: Coping  
To: Daphne Wallace <[REDACTED]<mailto:[REDACTED]>>>

Please have anna answer how much is needed to co=plete job and how much extra  
Also what is shipping costs?  
<=iv>Thanks

From: Daphne Wallace <[REDACTED]/>>  
Date: Friday, December 5= 2014 at 10:54 AM  
To: Richard =ahn <[REDACTED]<mailto:[REDACTED]>>>  
Cc: =nn rodriquez <[REDACTED]<mailto:[REDACTED]>>>  
Subject: Re: Coping

M=llie - I meant talk to Fitz about why 400 tiles vs 200 or 150 or 175 or . = .DW

On Fri, De= 5, 2014 at 10:53 AM, Daphne Wallace <[REDACTED]> wrote:

Greetings Ric=,

Mellie - answer the quantity price please

<=r>

In regards to the \$14.50, my understanding from Luis is he is=not the vendor, he has sourced it from another vendor who has it in stock =n Miami for us. The DR is from the quarry he does business with dire=tly.

I wrote it so you can send directly to JE to=advise, once you get the answer on the quantity, OP

=div>

On Fri, Dec =, 2014 at 10:47 AM, Richard Kahn <[REDACTED]><mailto:[REDACTED]>>></=pan> wrote:

What =oes 400 pieces mean. We should seek jee input and also attempt to get Miami= pricing for 13.5. I am happy to make that call but need property quantity=from jee. How much needed to complete Job. How much extra?

Sent fro= my iPhone

On Dec 5, 2014, at 9:10 AM, Daphne Wall=ce <[REDACTED]><mailto:[REDACTED]>>> wrote:

Greetings Rich and Anna,

Stone from the =R:

400 pcs 16 X 16 X 1.5 coping - EDA to DR port, January 20=5

400 X 12.50 = \$5,000 + 250 = \$5,250.00

Stone from Miami:

400 pcs 16 X 16=X 1.5 coping - EDA to FL port, 12/22 or 12/23

400=X 14.50 = \$5,800 + 250 = \$6,050.00

On Thu, Dec 4, 2014 at 9:54 PM, Daphne Wallace <[REDACTED]>  
<mailto:[REDACTED]> wrote:

[REDACTED]  
US1: += [REDACTED]  
US2: [REDACTED] <tel:% [REDACTED]>

<=div>

</=iv>

</=pan>

--

please note

The information contained in this communication is  
confidential, may be attorney-client privileged, may  
constitute inside information, and is intended only for  
the use of the addressee. It is the property of  
JEE

Unauthorized use, disclosure or copying of this  
communication or any part thereof is strictly prohibited  
and may be unlawful. If you have received this  
communication in error, please notify us immediately by  
return e-mail or by e-mail to [jeevacation@gmail.com](mailto:jeevacation@gmail.com) <mailto:jeevacation@gmail.com>, and  
destroy this communication and all copies thereof,  
including all attachments. All rights reserved